
 

Show x 2 2 4 0

has a root between x 2 and x 3

2 2 25 4 8 8 4 4 O

33 z 35 4 27 18 4 1 5 0

Sign change between 2 2 and x 3
function continuous so a root between 2 and 3

Rearrange XS 2x 4 0

to give a formula for X

Attempt l x 2x t 4

K 3 2 21 4

Attempt z se 4 2 2

3 4 x
2

1 x

2

Knx fLet 2 5 4 Let no 3

X i 3 2 274 2.289

Kz 3 2 2.2 4 2.437

3 fz zj
2 513



Let Knt Let Xo 3

X 1.581
Z

ou X

Exercise 23 x 4 0

i show there is a root between x and x z
Ii Rearrange to form iterative formula
Iii Starting x L fi d Ki Ka K 3

i i 4 4

23 Z 4 1 2

Sign change between a I and 2 2

continuous function so root between x i and x 2

I xt4

K 31
Knt 4 Xo I

X 3 74 1.710

K2 f 4 I 787

3 3J l 795


